Explanation Trees for Causal Bayesian Networks
Supplement

1 “Drug” Network

Sex Drug f m
f|o. yes (d) [ 0.25 0.75
m | 0.5 no (=d) | 0.75 0.25

Recovery | f,d f,~d m,d m,~d
recovery | 0.2 03 06 0.7
death 08 07 04 03

2 “Academe” Network

Theory Practice
good (tg) | 0.4 good (pg) 0.6
average (ta) | 0.3 average (pa) | 0.25
bad (tb) 0.3 bad (pb) 0.15
T.P. mark | tg,pg tg,pa ta,pg ta,pa tbV pb* Exira

pass (mp) 1 0.82;) 0.9 0.2 0 yes (e) | 0.3
fail (mf) 0 0.15 0.1 0.8 1 no (=e) | 0.7
[ This denotes all cases where Theory = bad or Practice = bad,|
Other

positive (o) | 0.8

Global mark | mp,e mp,—e mf,e mf,—e negative (—o) | 0.2
pass (gp) 1 1 0.25 0
fail (gf) 0 0 0.75 1

Final mark | gp,o gp,—o gf,o0 gf,—0
pass 1 0.7 0.05 0
fail 0 0.3 095 1




“Asia” Network

Tuberculosis | a —a Lung cancer | s -s
yes (t) 0.05 0.01 yes (c) 0.1 0.01
o () 0.95 0.99 no (—c) 0.9 0.99
Visit to Asia Smoking
yes (a) 0.01 —O—> yes (s) |05
no (—a) 0.99 no (-s) | 0.5
TbOrCa t,c —t,c t,mc —t,—c
tub. or cancer (o) | 1 1 0
normal (—o) 0 0 1
Bronchitis | s -s
4—0— yes (b) |03 06
no (—b) 0.7 04
X-ray o Dyspnea -0,b 0,7b —o0,—b
normal 0.02 0 95 yes 0.8 0.7 0.1
abnormal | 0.98 0.05 no 0.1 0.2 0.3 0.9
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